
MATHS

BOOKS - PATHFINDER MATHS (BENGALI ENGLISH)

DEFINITE INTEGRATION

Question Bank

1. Evaluate: 

Watch Video Solution

∫
1

− 1
5x4√x5 + 1dx

2. Evaluate: 

Watch Video Solution

∫
1

0

dx
tan− 1 x

1 + x2

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_v0b2WCUh8ZDa
https://dl.doubtnut.com/l/_s2oPRpeT025x


3. Evaluate: 

Watch Video Solution

∫
0

sin3 x cos xdx

π

2

4. Evaluate :

Watch Video Solution

∫
2

− 1
|x|dx

5. Evaluate :

Watch Video Solution

∫
2

− 1

|x|dx

6. Evaluate :

Watch Video Solution

∫
2

− 1
|x|dx

https://dl.doubtnut.com/l/_7O8a1cIDvfmg
https://dl.doubtnut.com/l/_Ikn9B4rBiR3o
https://dl.doubtnut.com/l/_sPhnmatgz7rD
https://dl.doubtnut.com/l/_vLfMFZaO46Fx
https://dl.doubtnut.com/l/_yPgIZHpGDpOS


7. Evaluate : , {x} represent fractional part of x. where 

.

Watch Video Solution

∫
9

0
{√x}dx

x ∈ R

8. Evaluate:

Watch Video Solution

∫
0

dx

π

2 √sinx

√sinx + √cos x

9. Evaluate:If f(a-x)=f(x), then show that

Watch Video Solution

∫
a

0

xf(x)dx = ∫
a

0

f(x)dx
a

2

10. Evaluate: ∫
1

− 1
log( )dx

2 − x

2 + x

https://dl.doubtnut.com/l/_yPgIZHpGDpOS
https://dl.doubtnut.com/l/_UjWZWNrqzy98
https://dl.doubtnut.com/l/_Jzbg5QDM9uv8
https://dl.doubtnut.com/l/_ieZX7ykVf7CV


Watch Video Solution

11. Evaluate:

Watch Video Solution

∫
1

− 1
x3 sin4 xdx

12. Evaluate: 

Watch Video Solution

∫
0

log sinxdx

π

2

13. Evaluate :

Watch Video Solution

∫
2

− 1

|x|dx

14. Evaluate: 

W h Vid S l i

∫
4π

0

|cos x|dx

https://dl.doubtnut.com/l/_ieZX7ykVf7CV
https://dl.doubtnut.com/l/_bm2lwhuT6PPJ
https://dl.doubtnut.com/l/_SA81yXvgx8pw
https://dl.doubtnut.com/l/_OJKHdHcANyt0
https://dl.doubtnut.com/l/_bzDV7ohG3KsL


Watch Video Solution

15. Find the value of 

Watch Video Solution

∫tan 3x tan 2x tanxdx

16. Find the points of local maximum and local minimumof the

function .

Watch Video Solution

∫
x2

0
dt

t2 − 5t + 4

2 + et

17. If  then find the

value of (A, B)

Watch Video Solution

∫ dx = Ax + B log sin(x − α) + C
sinx

sin(x − α)

https://dl.doubtnut.com/l/_bzDV7ohG3KsL
https://dl.doubtnut.com/l/_2T2p1xtXiBVG
https://dl.doubtnut.com/l/_L4T4SaJpj9lw
https://dl.doubtnut.com/l/_qjYu47zUSQlG


18. Find 

Watch Video Solution

∫ dx
cos 2x − cos 2α

six − sinα

19. Prove that : 

Watch Video Solution

1 ≤ ∫
1

0

ex
2
dx ≤ e

20. Show that : 

Watch Video Solution

≤ ∫
1

0
≤

π

6

dx

√4 − x2 − x3

π

4√2

21. Evaluate: 

Watch Video Solution

lim
n→ ∞

( + + .... + )
1

n + 1

1

n + 2

1

2n

https://dl.doubtnut.com/l/_siwOY2Dx5Ufc
https://dl.doubtnut.com/l/_yc9vNrfZWmuN
https://dl.doubtnut.com/l/_yzrOJ0rSd43x
https://dl.doubtnut.com/l/_pSjL5NPXoyMs
https://dl.doubtnut.com/l/_yYc6QmI114au


22. Evaluate : 

Watch Video Solution

lim
n→ ∞

n− 1

∑
r= 0

1

√4n2 − r2

23. Find 

Watch Video Solution

∫
2

0

(x2 + 1)dx

24. Evaluate the following: 

Watch Video Solution

∫
0

cos2 xdx

π

4

25. Evaluate the following: 

Watch Video Solution

∫
0

π

2 dx

1 + cos x

https://dl.doubtnut.com/l/_yYc6QmI114au
https://dl.doubtnut.com/l/_M7JWpjOaDljG
https://dl.doubtnut.com/l/_08mkYGpMzsM1
https://dl.doubtnut.com/l/_TEn31jrdNpij
https://dl.doubtnut.com/l/_KmP7sXjeUxx8


26. Evaluate the following: 

Watch Video Solution

∫
0

sin 2x cos xdx

π

6

27. Evaluate the following: 

Watch Video Solution

∫
1

0
dx

x sin− 1 x

√1 − x2

28. Evaluate the following: 

Watch Video Solution

∫
b

a

dx
|x|

x

29. Evaluate the following: 

Watch Video Solution

∫
0

[tanx]dx

π

3

https://dl.doubtnut.com/l/_KmP7sXjeUxx8
https://dl.doubtnut.com/l/_6Pvxa75pBUXT
https://dl.doubtnut.com/l/_QxZIh3Udlghl
https://dl.doubtnut.com/l/_UPbLSEmQQ6N6
https://dl.doubtnut.com/l/_LD8rtX3o1Pvg


30. Find the value of 

Watch Video Solution

√2∫
100π

0
√1 − cos 2xdx

31. If , then find the

value of B and C

Watch Video Solution

∫ dx = A cot x + B sin 2x + x + D
cos4 x

sin2 x

C

2

32. The value of  is

Watch Video Solution

∫
0

π

2 dx

1 + tan3 x

33. +constant, then find f(x)

Watch Video Solution

∫ex(1 + x)sec2(xex)dx = f(x)

https://dl.doubtnut.com/l/_LD8rtX3o1Pvg
https://dl.doubtnut.com/l/_c7o3sTFPtI9K
https://dl.doubtnut.com/l/_FL7liTOfPWfu
https://dl.doubtnut.com/l/_rggHM99Ejh7T


34. If  +c, then find f(x).

Watch Video Solution

∫ dx = f(x)
ex − 1
ex + 1

35.  is equal to

Watch Video Solution

∫x2ex
3
cos(ex

3
)dx

36. 

Watch Video Solution

lim
t→ a

∫
t

a
f(x)dx − ( )(f(t) − f(a))t−a

2

(t − a)
3

37. Evaluate :

Watch Video Solution

lim
n→ ∞

( )
1m + 2m + ... + nm

nm+ 1

https://dl.doubtnut.com/l/_dfBddGMXzQz4
https://dl.doubtnut.com/l/_U0r56E2TiiOt
https://dl.doubtnut.com/l/_HJkWRB0S80Sl
https://dl.doubtnut.com/l/_P8uHneJOeymo
https://dl.doubtnut.com/l/_xFQtinbOsIn6


38. Evaluate:

Watch Video Solution

lim
n→ ∞

[( sec2( ) + sec2( ).... + sec2(1)]
1

n2

1

n2

2

n2

4

n2

1

n

39. The value of

is equal to

Watch Video Solution

lim
n→ ∞

n{ + + .... + → nterms}
1

3n2 + 8n + 4

1

3n2 + 16n + 16

40. The value of

 is equal

to

Watch Video Solution

lim
n→ ∞

{ + 2 + ... + n }
1

n2

sin3(π)

4n

sin3(2π)

4n

sin3(nπ)

4n

https://dl.doubtnut.com/l/_xFQtinbOsIn6
https://dl.doubtnut.com/l/_6er9Fhjyd1EZ
https://dl.doubtnut.com/l/_UDc1Pxj0i0WD


41. The value of  ia

Watch Video Solution

n !

(n − 2) !

42. The value of  where [x] denotes the greatest

integer  is

A. 1

B. 0

C. 4-sin 4

D. none of these

Answer: B

Watch Video Solution

∫
2

− 2

dx
sin2 x

[ ] +x
π

1
2

≤ x

https://dl.doubtnut.com/l/_89xKiWlFuc2o
https://dl.doubtnut.com/l/_Wnq4VX3A1ctC


43. If  then I equals

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

I = ∫ dx

π

6

π

6

π + 4x5

1 − sin(|x| + )π
6

4π

2π +
1

√3

2π − √3

4π + √3 −
1

√3

44.  then I equals

A. 6

B. 8

C. 12

I = ∫
2

− 2

(∣∣1 − x4∣∣)dx

https://dl.doubtnut.com/l/_nb8hssxQUBeJ
https://dl.doubtnut.com/l/_zPNTmrXVapsc


D. 21

Answer:

Watch Video Solution

45.  where [x] denotes the

greatest integer then I equals

A. (-2)

B. (-1)

C. 0

D. 1

Answer: C

Watch Video Solution

I = ∫
1

− 1
([x2] + log( )dx.... (1)

2 + x

2 − x

≤ x

https://dl.doubtnut.com/l/_zPNTmrXVapsc
https://dl.doubtnut.com/l/_Lf8fJc9jJxqj
https://dl.doubtnut.com/l/_9QikoTuiSaFZ


46. if f(x) is a function such that f(x+k)=f(x) for

then 


is equal to

A. Ki

B. 

C. 

D. 

Answer: D

Watch Video Solution

K ∈ I + and I = ∫
k

0

f(x)dx I = ∫
k2 − k

0

f(x)dx

(k2 − 3)I

(K2 − K)I

(K − 1)I

47. let  be a fixed real number suppose f is continuous

function such that for all  if

then the value of  is

T ≤ 0

x ∈ Rf(x + T ) = F (x)

I = ∫
T

0
f(x)dx ∫

3 + 3T

3
f(2x)dx

https://dl.doubtnut.com/l/_9QikoTuiSaFZ
https://dl.doubtnut.com/l/_7jXXIuEI157A


A. 3/2I

B. 2I

C. 3I

D. 6I

Answer: C

Watch Video Solution

48. if  then I equals

A. 

B. 

C. (-1/3)

D. 0

I = ∫
0

dx

π

2 sin 8x log(cot x)

cos 2x

( − )
π

2

π

3

https://dl.doubtnut.com/l/_7jXXIuEI157A
https://dl.doubtnut.com/l/_P6rEYaCsdkpX


Answer: D

Watch Video Solution

49. if  then I equals

A. 

B. 

C. 0

D. none of these

Answer: C

Watch Video Solution

I = ∫
3

sin( − x)dx
1
3

1

x

1

x

√3

2

π +
√3

2

50. if  and  then I equalsb > a I = ∫
b

a

dx

√(x − a)(b − x)

https://dl.doubtnut.com/l/_P6rEYaCsdkpX
https://dl.doubtnut.com/l/_xYCsv08mKYrG
https://dl.doubtnut.com/l/_XAq8INDIqlN7


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

π

2

π

3
π

2

2π

51. if  then value of  is

A. 1

B. 44198

C. 44199

D. 44200

I = ∫
0

= λ tan− 1( )

π

2 dx

5 + 3 sinx

1

2
λ

https://dl.doubtnut.com/l/_XAq8INDIqlN7
https://dl.doubtnut.com/l/_u4d02ocfXKfs


Answer: B

Watch Video Solution

52. if  then I equals

A. 2

B. 2/e

C. 2(1-1/e)

D. 0

Answer: C

Watch Video Solution

I = ∫
e

|logx|
1
e

dx

x2

https://dl.doubtnut.com/l/_u4d02ocfXKfs
https://dl.doubtnut.com/l/_yyLU49ksFdPt


53. The natural number  for which 

 is

A. 2

B. 3

C. 4

D. 5

Answer: B

Watch Video Solution

n ≤ 5

In = ∫
1

0
ex(x − 1)ndx = 16 − 6e

54. if  Then I equals

A. 

B. 

I = ∫
a

0
√ dx, a > 0

a − x

a + x

(a − )
1
2

π

2

(π − 1)
a

2

https://dl.doubtnut.com/l/_ICbFiiUGWPs4
https://dl.doubtnut.com/l/_xS6RAYPqLg4H


C. 

D. 

Answer: D

Watch Video Solution

a(π − 1)
1

√2

a( − 1)
π

2

55. Evaluate: 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
0

sin3 x cos xdx

π

2

2−n+ 1

2−n− 1

2−n

2− 1

https://dl.doubtnut.com/l/_xS6RAYPqLg4H
https://dl.doubtnut.com/l/_UVF0HN2o1Yxv


56. let f(x) be a continuous function such that f(a-x)+f(x)=0 for all

 then  is equal to

A. a

B. a/2

C. f(a)

D. f(a)/2

Answer: B

Watch Video Solution

x ∈ [0, a] ∫
a

0

dx

1 + ef ( x )

57. If  for all  and  then f(7) is

A. 0

B. 1

f(x) ≥ 0 x ∈ [0, 10] ∫
8

0
f(x)dx = 0

https://dl.doubtnut.com/l/_Q3Lfxz760rti
https://dl.doubtnut.com/l/_DhoQJXphFwHU


C. 7

D. 10

Answer: A

Watch Video Solution

58. if  then f(4) is equal to

Watch Video Solution

∫
f ( x )

0

tdt = πcosπx

59. if  equals

A. 1

B. 2

C. 

In = ∫
0

tann θ. dθ, thenn ∈ N, n(In− 1 + In+ 1)

π

4

π

2

https://dl.doubtnut.com/l/_DhoQJXphFwHU
https://dl.doubtnut.com/l/_OgJLjETxBcj3
https://dl.doubtnut.com/l/_S3U4p2kKPLyh


D. 

Answer: A

Watch Video Solution

π

4

60.  is equal to

A. 44198

B. 

C. 1

D. none of these

Answer: B

Watch Video Solution

∫
0

sinxd(x − [x])

π

4

1 −
1

√2

https://dl.doubtnut.com/l/_S3U4p2kKPLyh
https://dl.doubtnut.com/l/_syxdeN9lUV9f


61. The value of  is

A. 

B. 0

C. 

D. none of these

Answer: A

Watch Video Solution

∫
sin2 x

0
sin− 1(√t)dt + ∫

cos2 x

0
cos − 1(√t)dt

π

4

π

2

62. value of  is equal to

A. e

B. 1/e

C. 

lim
n→ ∞

( ) , wheren ∈ N
n !

nn

1
n

e2

https://dl.doubtnut.com/l/_GM4AN0MjXBOe
https://dl.doubtnut.com/l/_7zrAAKtONRtm


D. 

Answer: B

Watch Video Solution

1

e2

63.  is

A. 4

B. (9/2)

C. 2

D. none of these

Answer: B

Watch Video Solution

∫
1

− 1
max (2 − x, 2, 1 + x)dx

https://dl.doubtnut.com/l/_7zrAAKtONRtm
https://dl.doubtnut.com/l/_6doegv61vlyh


64. The value of  where [x] is the greatest integer

less then or equal to x and {x} is the fractional part of x is

A. (7/2)

B. (5/2)

C. (1/2)

D. (3/2)

Answer: A

Watch Video Solution

∫
2

− 1
|[x] − {x}|dx

65. if  then I equals`

A. 

B. 

I = ∫
1.7

0
[x2]dx

2.4 + √2

2.4 − √2

https://dl.doubtnut.com/l/_oeSfBQD58per
https://dl.doubtnut.com/l/_4NWROW4xIjG0


C. 

D. 

Answer: B

Watch Video Solution

2.4 +
1

√2

2.4 −
1

√2

66.  is equal to

A. 1

B. 0

C. -2

D. 4

Answer:

Watch Video Solution

∫
1

− 1
(x − |2x|)dx

https://dl.doubtnut.com/l/_4NWROW4xIjG0
https://dl.doubtnut.com/l/_TGkhLagdNISP


67. is equal to

A. 9

B. 10

C. 8

D. none of these

Answer:

Watch Video Solution

∫
3

0
(|x| + |x − 1|)dx

68. suppose for every integer n, then the value

of  is

A. 16

B. 14

∫
n+ 1

n

f(x)dx = n2

∫
4

− 2

f(x)dx

https://dl.doubtnut.com/l/_HAlRGCYFiYHe
https://dl.doubtnut.com/l/_Y2xWdYY7k4wy


C. 19

D. none of these

Answer: C

Watch Video Solution

69. Evaluate: 

Watch Video Solution

lim
n→ ∞

( + + .... + )
1

n + 1

1

n + 2

1

2n

70. The value of  is equal to

A. `(-npi)

B. 

C. 

∫
2nπ

0

[sinx + cos x]dx

nπ

( − 2nπ)

https://dl.doubtnut.com/l/_Y2xWdYY7k4wy
https://dl.doubtnut.com/l/_rGO7YRnLSutG
https://dl.doubtnut.com/l/_sDP8xOV3dtNF


D. none of these

Answer: A

Watch Video Solution

71. the value of , is [.] greatest integer function

A. a) 

B. b) 

C. c) 0

D. d) none of these

Answer: A

Watch Video Solution

∫
3

[2 sinx]dx

π

2

π

2

( )
π

2

( − )
π

2

https://dl.doubtnut.com/l/_sDP8xOV3dtNF
https://dl.doubtnut.com/l/_zSAd3HZ4T5y3


72. if 
 ,

 is equal to

A. 

B. 

C. 0

D. none of these

Answer: C

Watch Video Solution

∫
1

0
f(x)dx = 1, ∫

1

0
xf(x)dx = a and ∫

1

0
x2f(x)dx = a2

then∫
1

0
(a − x)

2
f(x)dx

2a2

4a2

73. if , then the value of

 is equal to

A. (-xlog2)

f(x) = − ∫
x

0

log(cos t)dt

f(x) − 2f( + ) + 2f( − )
π

4
x

2

π

4
x

2

https://dl.doubtnut.com/l/_KSUTyY6OPQHC
https://dl.doubtnut.com/l/_HUHwRIma1NEp


B. 

C. 

D. none of these

Answer: A

Watch Video Solution

log 2
x

2

log 2
x

3

74. if , then  is

equal to

A. 

B. 

C. 

D. none of these

∫
π

0

( )
2

dx = A
x

1 + sinx
∫

π

0

(2x2). (cos2( ))x

2

(1 + sinx)
2

A + 2π − π2

A − 2π + π2

2π − A − π2

https://dl.doubtnut.com/l/_HUHwRIma1NEp
https://dl.doubtnut.com/l/_6ahcnNShteWF


Answer: A

Watch Video Solution

75. If  then find the relation

between a and b

Watch Video Solution

∫ dx = a tan7 x + b tan5 x + c
sin4 x

cos8 x

76. The value of x satisfying

is equal to (where[.] and{.}

denotes the greatest integer and fractional part of x

A. [-14,-13]

B. (0,1)

C. (-15,-14)

∫
2 [x+ 14 ]

0

{ }dx = ∫
{x }

0

[x + 14]dx
x

2

https://dl.doubtnut.com/l/_6ahcnNShteWF
https://dl.doubtnut.com/l/_dV5GhXxl9vzx
https://dl.doubtnut.com/l/_X1S7FugCRlZK


D. none of these

Answer: A

Watch Video Solution

77. if and  then I equals

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

n > 1 I = ∫
∞

0

dx

(x + √1 + x2)
n

n

n2 − 1

2
n

n2 − 1

n

2(n2 − 1)

√n
2

− 1

https://dl.doubtnut.com/l/_X1S7FugCRlZK
https://dl.doubtnut.com/l/_oIK3MKtcfXJT
https://dl.doubtnut.com/l/_0Le6j0TSPpGM


78. If [x] denotes the greatest integer  and  then value

of  is

A. 1/6(n-1)n(4n+1)

B. 

C. 1/6(n-1)(n)(2n-1)

D. 1/6(n-1)(3n+5)

Answer: A

Watch Video Solution

≤ x n ∈ N

In = ∫
n2

0
[√x]dx

(n − 1)n2(2n + 1)
1

6

79. if then I equals

A. 

B. 

C. 

I = ∫
1

0

dx

(1 + x)(2 + x)√x(1 − x)

2π

π

π

2

https://dl.doubtnut.com/l/_0Le6j0TSPpGM
https://dl.doubtnut.com/l/_aGTenlAdeWNU


D. 

Answer: D

Watch Video Solution

(√3 − 1)
π

√6

80. if  then it equals

A. 2007/2

B. 2011/2

C. 2009/2

D. none of these

Answer: D

Watch Video Solution

∫
1

0
x(1 − x)2007 / 2

dx

https://dl.doubtnut.com/l/_aGTenlAdeWNU
https://dl.doubtnut.com/l/_ACKFcAxSRQ2l


81. if  then I equals

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

I = ∫
2

− 1
|x sinπx|dx

1

π

2

π

4

π

3

π

82. if  then I equals

A. 

B. 

C. 

I = ∫
β

α

[log logx + ]dx
1

(logx)
2

α logα − β log logβ

− + log logβ
1

α

i

β

β − α log logα − β log logβ
α

αβ

https://dl.doubtnut.com/l/_O6oBfw6Y54fW
https://dl.doubtnut.com/l/_WLbsIqU5epc6


D. none of these

Answer: D

Watch Video Solution

83. if then I equals

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

I = ∫
0

d(θ)

π

4 sin 2θ

sin2 θ + cos4 θ

( )
π

2

π

√3

√3
π

2

π

3√3

https://dl.doubtnut.com/l/_WLbsIqU5epc6
https://dl.doubtnut.com/l/_3ErmNULhF0Nr


84. if  and  then I equals

A. 

B. 

C. 

D. none of these

Answer: D

Watch Video Solution

0 < α < 1 I = ∫
1

− 1

dx

√1 − 2αx + α2

1

α

2

α

3

α

85. if  then I equals

A. 1/2log(5/3)

B. 2log(1/3)

C. 1/2log(1/5)

I = ∫
15

8

dx

(x − 3)√x + 1

https://dl.doubtnut.com/l/_64qpOHaD7lWN
https://dl.doubtnut.com/l/_G6577K3NQEbL


D. 2log(5/3)

Answer: A

Watch Video Solution

86.  equals

A. 

B. 

C. 

D. 4f(2)

Answer: A

Watch Video Solution

lim
x→ ( π / 4 )

∫
sec2 x

2 (f(t)dt)

x2 −
( π ) 2

16

f(2)
8

π

f(2)
2

π

f( )
2

π

1

2

https://dl.doubtnut.com/l/_G6577K3NQEbL
https://dl.doubtnut.com/l/_LD3raeLCOEyZ
https://dl.doubtnut.com/l/_QhF9Yqnk948D


87. If , then

A. a=40-6 In2

B. b=-9

C. c=12

D. a=40-3 In2

Answer: A::B::C

View Text Solution

∫
∞

1

=
(x3 + 3)dx

x6(x2 + 1)

a + bπ

c

88. If  then,

A. a=2

B. a=1/2

C. b=3

∫
1

0

= aInb
(1 − x2)dx

1 + x2 + x4

https://dl.doubtnut.com/l/_QhF9Yqnk948D
https://dl.doubtnut.com/l/_DNWl40Pj2mNl


D. none of these

Answer: B::C

Watch Video Solution

89. If  then,

A. f(x) is continous in [(-3/2),1]

B. f(x) is differentiable in [(-3/2),1]except x=(-1)

C. f(x)is continous in ](-3/2),1]

D. f(x)is differentiable in ](-3/2),1{

Answer: A::B

Watch Video Solution

f(x) = ∫
x

− 2
|t + 1|dt

https://dl.doubtnut.com/l/_DNWl40Pj2mNl
https://dl.doubtnut.com/l/_ECKqT4hLEP3w


90. Let f(x)be a function satisfying f(x)=f(x) with f(0)=1 and 'g' be the

function satisfying  the value of the integral 

 is

A. 1/4(e-7)

B. 1/4(e-2)

C. 1/2(e-3)

D. none of these

Answer: D

Watch Video Solution

f(x) = g(x) = x2

∫
1

0
f(x)g(x)dx

91. Let , then 

A. Are in AP

In = ∫
0

tann xdx

π

4

, , ,
1

I2 + I4

1

I3 + I5

1

I4 + I6

1

I5 + I7

https://dl.doubtnut.com/l/_0p8wqam7ppBZ
https://dl.doubtnut.com/l/_bhqKA1DRzJU0


B. Are in Gp

C. Common difference=1

D. Common ratio=(-1)

Answer: A::C

Watch Video Solution

92. The maximum and minimum values of the integral

 are

A. 

B. 

C. 

D. 

Answer: A::C

∫
0

π

2 dx

1 + sin2 x

π

4

π

π

2

3π

4

https://dl.doubtnut.com/l/_bhqKA1DRzJU0
https://dl.doubtnut.com/l/_K3dZnI8RyuRC


Watch Video Solution

93. Let , then

A. f is continous everywhere

B. f(x) is differentiable at 

C. 

D. f  for all x

Answer: A::C::D

Watch Video Solution

f(x) = ∫
x

0
|sin t|dt

x = π

f(π) = 2

f(x) ≥ 0

94. The value of  is equal to for

limits-pi to pi

A. 0

∫(π sinmx sinnxdx(m, n ∈ N)

https://dl.doubtnut.com/l/_K3dZnI8RyuRC
https://dl.doubtnut.com/l/_32tg9r42C6HZ
https://dl.doubtnut.com/l/_8BGbWSPtRxiB


B. 

C. 

D. 

Answer: A::B::C

Watch Video Solution

∫ x8 sin9 xdx

π

8

π

8

∫
−

sinxf(cos x)dx

π

2

π

2

∫( − ) ecos xdx
1

2

1
2

95. The value of  is

A. 

B. 1

C. 

D. 

Answer: B::D

h id l i

∫
tan x

+ ∫
cot x

1
e

tdt

1 + t2 1
e

dt

t(1 + t2)

1

2 + tan2 x

π

4

∫( − 1)
12

π

dt

1 + t2

https://dl.doubtnut.com/l/_8BGbWSPtRxiB
https://dl.doubtnut.com/l/_YJlCEHH7RJKv


Watch Video Solution

96. If  for , the the value of the

integral  is

A. 

B. 

C. 

D. 

Answer: A::D

Watch Video Solution

< sinx < x
2x

π
0 < x < ( )

π

2

∫
0

dx

π

2 sinx

x

> 1

< 1

>
π

2

<
π

2

97. Definite integral of any discontinuous or non differentiable

function is normally done by the usage of the property

https://dl.doubtnut.com/l/_YJlCEHH7RJKv
https://dl.doubtnut.com/l/_4m6fJ7QFBDxi
https://dl.doubtnut.com/l/_xxlvU9TZytJy


,where is the

point of discontinuity or non diffrentiability

The value of ,(where[.]denotes greatest

integer function)is equal to

A. sec1

B. 100-sec1

C. 0.99-sec1

D. none of these

Answer: 2

Watch Video Solution

∫
b

a

f(x)dx = ∫
c

a

f(x)dx + ∫
b

c

f(x)dx c ∈ (a, b)

I = ∫
100

1
[sec− 1 x]dx

98. Definite integral of any discontinuous or non diffrentiable

function is normally done by the usage of the property

,where ,∫
b

a

f(x)dx = ∫
b

a

f(x)dx + ∫
b

c

f(x)dx c ∈ (a, b)

https://dl.doubtnut.com/l/_xxlvU9TZytJy
https://dl.doubtnut.com/l/_pYT6FJ7Wthxf


 (where[.] denotes greatest integer function)is

equal to

A. 1-cosec1

B. cosec1-1

C. 1-sin1

D. none of these

Answer: 2

Watch Video Solution

∫
∞

1
[cos ec− 1x]dx

99. if m and M are the smallest and greatest values of a function

f(x)defined on an interval [a,b] then

,Again(i) 




m(b − a) ≤ ∫
b

a

f(x)dx ≤ M(b − a)

f(x) ≥ 0on[a, b] ⇒ ∫
b

a

f(x)dx ≥ 0

https://dl.doubtnut.com/l/_pYT6FJ7Wthxf
https://dl.doubtnut.com/l/_GD80Id0oGhgh


f(x)leg(x) on[a,b]impliesint_a^bf(x)dxleint_a^bg(x)dx,


then (a,b)is

A. 

B. (1,e)

C. 

D. 

Answer: 2

Watch Video Solution

f(x) ≤ g(x),

a ≤ ∫
1

0
ex

2
dx ≤ b

(1, e2)

(e− 1, e)

(e, e2)

100. if m and M are the smallest and greatest values of a function

f(x) defined on an interval [a,b]then

,(i) 




f(x)leg(x)[a,b]impliesint_a^bf(x)dxleint_a^bg(x)dx

m(b − a) ≤ ∫
b

a

f(x)dx ≤ M(b − a)

f(x) ≥ 0, [a, b] ⇒ ∫
b

a

f(x)dx ≥ 0

f(x) ≤ g(x), , Let

https://dl.doubtnut.com/l/_GD80Id0oGhgh
https://dl.doubtnut.com/l/_K1t5NpfASRYq


g(x)=int_0^xf(t)dt 1/2lef(t)le1 tin[0,1] 0lef(t)le1/2

tin[1,2]` then

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

where , and f or

− ≤ g(2) <
3

2

1

2

0 ≤ g(2) < 2

− < g(2) ≤
3

2

5

2

2 < g(2) < 4

https://dl.doubtnut.com/l/_K1t5NpfASRYq


101. let  then 


View Text Solution

F (x) = ∫
x

0
dt, x ∈ [ − 1, 1]

2t ÷ 1

t2 − 2t + 2

https://dl.doubtnut.com/l/_hdg9w2Rrxf5L


102. 

View Text Solution

103.  where [.] denotes the greatest integer

function then the value of 16/17I must be

Watch Video Solution

I = ∫
2

0
x[2x]dx

https://dl.doubtnut.com/l/_QeDsV5cfXeRm
https://dl.doubtnut.com/l/_z7SXjpltWR8K


104. If  and  then the

value of must be

Watch Video Solution

< α <
π

2

2π

3
I = ∫

sin 2α

0

dx

√4 cos2 α − x2

I + α

π

105. if  then the value of 10f(2) must be

Watch Video Solution

∫
x2 ( 1 +x )

0

f(t)dt = x

106.  then prove that f(x) =f(1/x)

Watch Video Solution

f(x) = ∫
x

1
dt(x ≥ 1)

log t

1 + t + t2

107. 

h id l i

∫
π / 4

−π / 4

sec2 xdx

1 + ex

https://dl.doubtnut.com/l/_z7SXjpltWR8K
https://dl.doubtnut.com/l/_lbCVJtoMTL24
https://dl.doubtnut.com/l/_sk6OlfMwm7q0
https://dl.doubtnut.com/l/_gfVrpsz97cIG
https://dl.doubtnut.com/l/_7soe1bSdMq3h


Watch Video Solution

108. Evaluate

Watch Video Solution

∫
1

0

( ) dx
x − 1

x + 1

1
2

109. The value of  is (where [x] and {x} denotes the

integral part and fractional part functions of x and )

A. n+2

B. n+1

C. n

D. n-1

Answer:

Watch Video Solution

∫
n

0 [x]dx

∫ n

0
{x}dx

x ∈ N

https://dl.doubtnut.com/l/_7soe1bSdMq3h
https://dl.doubtnut.com/l/_3cb0nU8tZAfF
https://dl.doubtnut.com/l/_bEQOn04eriZ2


110. Evaluate: 

Watch Video Solution

∫
0

dx

π

2 (sinx + cos x)
2

(1 + sin 2x)
1
2

111. Find the solution for x of the equation .

Watch Video Solution

∫
x

2

dt =
1
2

1

t(t2 − 1)
1
2

π

2

112. If  and , then find relation

between  and 

Watch Video Solution

I1 = ∫
e2

e

dx

logx
I2 = ∫

2

1

dx
ex

x

I1 I2

113. If , then find the value of a.∫
a

0
=

dx

1 + 4x2

π

8

https://dl.doubtnut.com/l/_bEQOn04eriZ2
https://dl.doubtnut.com/l/_Kd5FpKR7Al4y
https://dl.doubtnut.com/l/_51VEi3kRck7L
https://dl.doubtnut.com/l/_pFvmTvGIez4F
https://dl.doubtnut.com/l/_pR30U8FUG0jy


Watch Video Solution

114. Evaluate 

Watch Video Solution

∫
0

dx

π

2 cos x

(1 + sinx)2

115. Evaluate: 

Watch Video Solution

∫

3π
4

π

4

dx

1 + cos x

116.  is

A. 

B. 

C. 

∫
−

π

3

π

3

(x sinx)dx

cos2 x

−
4π

3

2 log tan(5π)

12

− 2
4π

3

log tan(5π)

12

+
4π

3

log tan(5π)

12

https://dl.doubtnut.com/l/_pR30U8FUG0jy
https://dl.doubtnut.com/l/_kSK2qpdcYva2
https://dl.doubtnut.com/l/_JaF6ZEM99944
https://dl.doubtnut.com/l/_3gvVLhSC58IX


D. none of these

Answer: B

Watch Video Solution

117. The value of  where a,b, c, k are

constant depends only on

A. a and k

B. a and b

C. a b, and c

D. k

Answer: D

Watch Video Solution

∫
3

− 3
(ax5 + bx3 + cx + k)dx

https://dl.doubtnut.com/l/_3gvVLhSC58IX
https://dl.doubtnut.com/l/_UYgwNsyWuhmY
https://dl.doubtnut.com/l/_HnHl6KWcfPtK


118.  is equal to

A. 0

B. 1

C. 2

D. 

Answer: C

Watch Video Solution

∫
−

sin|x|dx

π

2

π

2

π

119. If f(x) is defined on [2,2] by f(x) =  and g(x) =

 then  is equal to

A. 64

B. (-48)

4x2 − 3x + 1

f( − x) − f(x)

x2 + 3
∫

2

− 2

g(x)dx

https://dl.doubtnut.com/l/_HnHl6KWcfPtK
https://dl.doubtnut.com/l/_ljF0vjD96WsY


C. 0

D. 24

Answer: C

Watch Video Solution

120.  then  equals

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

I = ∫
π

−π

esin xdx

esin x + e− sin x
I

π

2

2π

π

π

4

https://dl.doubtnut.com/l/_ljF0vjD96WsY
https://dl.doubtnut.com/l/_bqqN6zNrHONl


121. If  then the value I is :

A. 

B. 

C. 

D. none if these

Answer: B

Watch Video Solution

I = ∫
100π

0
√1 − cos 2xdx

100√2

200√2

50√2

122.  is equal to

A. 

B. 

C. (e-1)/1000

∫
1000

0

ex− [x ]dx

e1000 − 1
e − 1

e1000 − 1
1000

https://dl.doubtnut.com/l/_0cZCqJGF4B6e
https://dl.doubtnut.com/l/_zZW4cUMlGniV


D. 1000(e-1)

Answer: D

Watch Video Solution

123.  is equal to ?

Watch Video Solution

∫
1

0
x(1 − x)9

dx

124. The value of integral  is

A. 3/2

B. 2

C. 1

D. none of these

∫
6

3

√xdx

√9 − x + √x

https://dl.doubtnut.com/l/_zZW4cUMlGniV
https://dl.doubtnut.com/l/_yRUlNE5XuYV0
https://dl.doubtnut.com/l/_Cy80QhkTKw0x


Answer: A

Watch Video Solution

125.  is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

I = ∫
0

π

2 dx

1 + tan3 x

π

π

2

π

4

3π

2

126.  is equal to∫
2

0

)dx
sin(πx)

2

https://dl.doubtnut.com/l/_Cy80QhkTKw0x
https://dl.doubtnut.com/l/_DeKYfZ2U4207
https://dl.doubtnut.com/l/_esYZW3xqDTxT


A. 1

B. (-1)

C. 0

D. none of these

Answer:

Watch Video Solution

127.  is equal to

A. 0

B. 

C. 

D. 

∫
π

0

xdx

1 + sinx

π

4

π

2

π

https://dl.doubtnut.com/l/_esYZW3xqDTxT
https://dl.doubtnut.com/l/_3McPDSR4Kfhj


Answer: D

Watch Video Solution

128.  is equal to

A. 1

B. 0

C. (-1)

D. none of these

Answer: B

Watch Video Solution

∫
1

0
tan− 1( )dx

2x − 1

1 + x − x2

129.  is equal to∫
2

− 3

[|x + 1| + |x + 2| + |x − 1|]dx

https://dl.doubtnut.com/l/_3McPDSR4Kfhj
https://dl.doubtnut.com/l/_zAqJ3sLRecK0
https://dl.doubtnut.com/l/_gSl8HJmZiBq5


A. 31/2

B. 35/2

C. 47/2

D. 39/2

Answer: C

Watch Video Solution

130. find =?

Watch Video Solution

∫
o

sinxdx

π

4

131. The value of  where [] denotes GiF is

A. 7

∫
3

− 1

[|x − 2| + [x]]dx

https://dl.doubtnut.com/l/_gSl8HJmZiBq5
https://dl.doubtnut.com/l/_OeP97cEahXHZ
https://dl.doubtnut.com/l/_cVUTrimfkuKQ


B. 5

C. 4

D. 3

Answer: A

Watch Video Solution

132. Evaluate:

A. 1/2tan 1

B. tan 1

C. 1/2 cosec1

D. 1/2 sec1

Answer: A

lim
n→ ∞

[( sec2( ) + sec2( ).... + sec2(1)]
1

n2

1

n2

2

n2

4

n2

1

n

https://dl.doubtnut.com/l/_cVUTrimfkuKQ
https://dl.doubtnut.com/l/_yxt3bR3wGSbD


Watch Video Solution

133. `integral 0 to pi xf(sinx) dx is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

π∫
π

0
f(sinx)dx

( )∫
0

f(sinx)dx
π

2

π

2

π∫
0

f(cos x)dx

π

2

π∫
π

0

f(cos x)dx

134. If for x =0 af(x) +bf(1/x)=1/x-5 where  then  is

equal to

a ≠ b ∫
2

1

xf(x)dx

https://dl.doubtnut.com/l/_yxt3bR3wGSbD
https://dl.doubtnut.com/l/_UIXmF7hTSp8g
https://dl.doubtnut.com/l/_8151MbY9yoTl


A. 

B. 

C. 

D. none of these

Answer: D

Watch Video Solution

b − 9a

9(a2 − b2)

b − 9a

b(a2 − b2)

b − 9a

6(a2 − b2)

135. If  for all x except at x=0 then 

A. 44289

B. 44411

C. 44199

D. none of these

x2f(x) + f( ) = 2
1

x

∫
3

f(x)dx =
1
3

https://dl.doubtnut.com/l/_8151MbY9yoTl
https://dl.doubtnut.com/l/_L3Dl3F8Y1SQO


Answer: B

Watch Video Solution

136.  is equal to

A. `(e^(pi/2)-1)

B. `(e^(pi/2)+1)

C. 

D. none of these

Answer: A

Watch Video Solution

∫
0

exdx

π

2

e + 1
π

2

2

137. The value of  where [] denotes GIF is∫
2

1
[2x2 − 3]dx

https://dl.doubtnut.com/l/_L3Dl3F8Y1SQO
https://dl.doubtnut.com/l/_yIUspoza3Q76
https://dl.doubtnut.com/l/_jG4hytony5uE


A. 4

B. 

C. 

D. 

Answer: C

Watch Video Solution

√− + √2 + √3 − 10
3

2

9 − (√ + √2 + √ + √3 + √
3

2

5

2
7
2

15 − √ − √2 − √ − √3 − √ − √
3

2

5

2
7
2

9

2

138. The value of  ,  is :

A. b-a

B. a-b

C. a+b

D. 

∫
b

a

dx
|x|

x
a < b < 0

|b| − |a|

https://dl.doubtnut.com/l/_jG4hytony5uE
https://dl.doubtnut.com/l/_OKfWVovSIldB


Answer: D

Watch Video Solution

139. If  then th value of  is equal

A. 1

B. 2

C. (-2)

D. 3

Answer: D

Watch Video Solution

∫
x+ 1

x

f(t)dt = [x] ∫
4

− 2
f(x)dx

140. Find the value of .∫
2

0

∣∣x
2 + 2x − 3∣∣dx

https://dl.doubtnut.com/l/_OKfWVovSIldB
https://dl.doubtnut.com/l/_ygJMvVbsKXma
https://dl.doubtnut.com/l/_TrLH4YLtTrrt


A. 4

B. 6

C. 3

D. 2

Answer: D

Watch Video Solution

141. The value of  is : where [x] denotes greatest

integer function.

A. 

B. 

C. 

D. none of these

∫
1.5

0
[x2]dx

(2 − √2)

5 + √5
2

(5 + √5)

https://dl.doubtnut.com/l/_TrLH4YLtTrrt
https://dl.doubtnut.com/l/_RCmi0cIuMmVW


Answer: A

Watch Video Solution

142. Let , then 

A. 44200

B. 44198

C. 44204

D. none of these

Answer: A

Watch Video Solution

In = ∫
0

tann xdx

π

4

, , ,
1

I2 + I4

1

I3 + I5

1

I4 + I6

1

I5 + I7

https://dl.doubtnut.com/l/_RCmi0cIuMmVW
https://dl.doubtnut.com/l/_KAWJ1ZxRniDC


143. If  and  then the value of

 is

A. (-2)

B. 0.3

C. 0.4

D. 0.5

Answer: D

Watch Video Solution

∫
4

− 1
f(x)dx = 4 ∫

4

2
[3 − f(x)]dx = 7

∫
2

− 1

f(x)dx

144. if  then the value of  is

A. 

B. 

I10 = ∫
0

x10 sinxdx

π

2

I10 + 90I8

10( )
3π

2

10( )
9π

2

https://dl.doubtnut.com/l/_nSdDG3OLPLEz
https://dl.doubtnut.com/l/_ABdK8CDZWsQO


C. 

D. 0

Answer: B

Watch Video Solution

( )
π

2

145. If  then 

A. G.P.

B. A.P.

C. H.P.

D. none of these

Answer: C

Watch Video Solution

an = ∫
0

cotn xdx

π

4

a2 + a4, a3 + a5, a4 + a6

https://dl.doubtnut.com/l/_ABdK8CDZWsQO
https://dl.doubtnut.com/l/_iyfvmtFA00A1


146. The value of 

A. 0

B. 2

C. 1

D. none of these

Answer: D

Watch Video Solution

∫ √4 − 4 sin2 tdt

5π
6

π

6

147.  where [] denotes the greatest integer equals

A. 

B. 

C. 0

∫
∞

0

[ ]dx
2

lnx

In2

l2

https://dl.doubtnut.com/l/_BMfVP5x3Tx0z
https://dl.doubtnut.com/l/_Dv79eq25b9Gr


D. 

Answer: A

Watch Video Solution

2

l

148. if `int_2^e [(1/logx)-(1/(logx)^2)] dx=a+(b/log2)' then

A. a=l , b=2

B. a=l , b=2

C. a=(-l) , b=2

D. none of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Dv79eq25b9Gr
https://dl.doubtnut.com/l/_jmVctJSrC0FW


149. If  then

A. 

B. I lies in the interval (1/4, 1/5)

C. I lies in the interval (1/5, 1/6)

D. 

Answer: D

Watch Video Solution

I =
∣
∣
∣
∫

6

2

∣
∣
∣

sinxdx

1 + x2

1 ≥
1

4

I ≤
3

10

150. Let f(x) =  then

A. f(x) is continous in (-1,1)

B. f(x) is differentiable in (-1,1)

C. f'(x) is continous in (-1,1)

∫
x

− 1

|x + 1|dx

https://dl.doubtnut.com/l/_AhLSBuyA2FH6
https://dl.doubtnut.com/l/_Venflsyp5r2q


D. All of the above

Answer: D

Watch Video Solution

151. If a continous function f satisfies  for

all  then f(2) is equal to

A. 12

B. 

C. 3

D. 

Answer: B

Watch Video Solution

∫
f ( x )

0

t2dt = x2(1 + x)

x ≥ 0

3√36

3√42

https://dl.doubtnut.com/l/_Venflsyp5r2q
https://dl.doubtnut.com/l/_eyKY7Rbbw2Ah
https://dl.doubtnut.com/l/_cxRVGKm4yXIT


152. The value of  is

A. 0

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

∫
sin2 x

0
sin− 1(√t)dt + ∫

cos2 x

0
cos − 1(√t)dt

π

4

π

2

153. A line tangent to the graph of the function y=f(x) at the pointx

=a forms an angle  with y axis abd at x=b and  with x-axis then 

A. 

π

3

π

4

∫
b

a

f' ' (x)dx

( ) − 1
1

√3

https://dl.doubtnut.com/l/_cxRVGKm4yXIT
https://dl.doubtnut.com/l/_zZbLFsdTRJtY


B. (-pi/12)`

C. (pi/12)

D. 

Answer: A

Watch Video Solution

√3 − 1

154. The value of  is

A. 0

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

∫
0

log(tanx)dx

π

2

π

4

π

2

https://dl.doubtnut.com/l/_zZbLFsdTRJtY
https://dl.doubtnut.com/l/_YBay7RDijx0x


Watch Video Solution

155.  is equal to [x] denotes the greatest integer

function

A. 

B. 0

C. 

D. 

Answer: C

Watch Video Solution

∫
3

[2 sinx]dx

π

2

π

2

−π

−
π

2

π

2

156. The value of the integral  is

A. 44515

∫
3

0

dx

(√x + 1 + √5x + 1)

https://dl.doubtnut.com/l/_YBay7RDijx0x
https://dl.doubtnut.com/l/_S4C1eZyaeY21
https://dl.doubtnut.com/l/_RJ16AWwMec19


B. 14/15

C. 44232

D. none of these

Answer: D

Watch Video Solution

157. The solution of the equation  is given by

A. 1

B. 2

C. 3

D. 

Answer: B

W t h Vid S l ti

∫
x

√2

dx

x√x2 − 1 = π

12

√3

https://dl.doubtnut.com/l/_RJ16AWwMec19
https://dl.doubtnut.com/l/_mfCe35vn07pJ


Watch Video Solution

158. The value of is

Watch Video Solution

∫
e

|logx|dx
1

e2

159. The integral  equals

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

∫
0

π

2 dx

x + √a2 − x2

π

π

2

π

4

https://dl.doubtnut.com/l/_mfCe35vn07pJ
https://dl.doubtnut.com/l/_kWLrlHciibRc
https://dl.doubtnut.com/l/_W7yaZFosnYkf
https://dl.doubtnut.com/l/_13YgCTouLNsg


160. If  then I is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

I = ∫
0

log(1 + tanx)dx

π

4

loge 2
π

8

loge 2
π

4

− loge 2
π

8

− loge 2
π

4

161. The value of  is

A. 1/4In3/2

B. 1/2In3/2

C. In3/2

∫
√ ∈ 3

∈ 2

xsinx2

sinx2 + sin(In6 − x2)dx

https://dl.doubtnut.com/l/_13YgCTouLNsg
https://dl.doubtnut.com/l/_MTfvDZkhH4WG


D. 1/6In3/2

Answer: A

Watch Video Solution

162. The value of  is

A. 

B. 

C. log2

D. 

Answer: D

Watch Video Solution

∫
1

0
dx

8 log(1 + x)

1 + x2

log 2
π

8

log 2
π

2

π log 2

https://dl.doubtnut.com/l/_MTfvDZkhH4WG
https://dl.doubtnut.com/l/_o30QqT0BVi6Z


163. Th value of  is

A. 2

B. 0

C. (-2)

D. 4

Answer: D

Watch Video Solution

∫
2

− 2
(x cos x + sinx + 1)dx

164. 

Watch Video Solution

∫
16π

π

|sinx|dx =

165. The value of  islim
n→ ∞

n

∑
r= 1

r3

r4 + n4

https://dl.doubtnut.com/l/_L8vuadOwtS9f
https://dl.doubtnut.com/l/_5Y6c5G68rRA0
https://dl.doubtnut.com/l/_CGxAyt69hQA5


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(loge( )
1

2

1

2

(loge( )
1

4

1

2

loge 2
1

4

(loge)2
1

2

166. The value of  is

A. 0

B. `(pi/4)

C. `(pi/2)

D. 1

∫
π

0

sin50 x cos49 xdx

https://dl.doubtnut.com/l/_CGxAyt69hQA5
https://dl.doubtnut.com/l/_tmIa4KZTV6B6


Answer: A

Watch Video Solution

167. If

then

A. 

B. 

C. 

D. 

Answer: A::C

Watch Video Solution

I1 = ∫
1

0
2x

2
dx, I2 = ∫

1

0
2x

3
dx, I3 = ∫

2

1
2x

2
dx, I4 = ∫

2

1
2x

3
dx

I4 > I3

I4 < I3

I1 > I2

I1 < I2

https://dl.doubtnut.com/l/_tmIa4KZTV6B6
https://dl.doubtnut.com/l/_Rpeh8giB0HXl
https://dl.doubtnut.com/l/_AuY8lcmun01o


168. The interval in which f(x) defined by

 increases

A. 

B. 

C. (-1,0)

D. 

Answer: A::B::C

Watch Video Solution

f(x) = ∫
x

− 1

(t2 + 2t)(t2 − 1)dt

( − ∞, − 2)

(1, ∞)

(2, ∞)

169. Let f be an odd continous function which is periodic with priod

2 if g(x) =  dt then

A. g(x) is even

B. g(n)=0, 

∫
x

0
f(t)

n ∈ N

https://dl.doubtnut.com/l/_AuY8lcmun01o
https://dl.doubtnut.com/l/_UYUJHDbYbwKg


C. g(2n)=0 

D. g(x) is periodic

Answer: A::C::D

Watch Video Solution

n ∈ N

170. Let f(x) =  then

A. f(x) is continous in (-1,1)

B. f(x) is differentiable in (-1,1)

C. f'(x) is differentiable in (-1.1)

D. none of these

Answer: A::B::C

Watch Video Solution

∫
x

− 2
|x + 1|dx

https://dl.doubtnut.com/l/_UYUJHDbYbwKg
https://dl.doubtnut.com/l/_q0lwF4z6xFzD


171. Let then

A. 

B. 

C. 

D. 

Answer: A::C

View Text Solution

I = ∫
0

π

2 sinxdx
x

I > 1

I > ( )
π

2

I > ( )
π

2

I < 1

172. If  then

A. 

B. 

C. 

I = ∫
0

π

2 dx

√1 + sin3 x

0 < I < 1

I > ( )
π

2√2

I < √2π

https://dl.doubtnut.com/l/_5BRGSFwuoh9V
https://dl.doubtnut.com/l/_DrIeFH0BnsoV


D. 

Answer: B::C

Watch Video Solution

I > 2π

173. `int_0^pi xf(sinx)dx is equal to

A. 

B. 

C. 

D. none of these

Answer: A::B

View Text Solution

∫
π

0
f(sinx)dx

π

2

π∫
0

f(sinx)dx

π

2

2π∫
0

f(sinx)dx

π

2

https://dl.doubtnut.com/l/_DrIeFH0BnsoV
https://dl.doubtnut.com/l/_YkCwcOW95J2f


174. Let f(x) =  and g(x) =f(x-1) +f(x+1) 

int_(-3)^3 g(x) dx` is equal to

A. 2

B. 3

C. period of h(x) =

D. period of 

Answer: A::C

Watch Video Solution

{1 − |x|, |x| ≤ 10, |x| > 1

ξnR, thenvalueof

sinπx

ϕ(x) = cos(2πx)

175. The values of  which satisfy  are equal

to

A. 

α ∫
α

sin 2α(α ∈ [0, 2π]
π

2

( )
π

2

https://dl.doubtnut.com/l/_zw8aDJ8PnmEp
https://dl.doubtnut.com/l/_sF6p6cu4LYOP


B. 

C. 

D. 

Answer: A::B::C::D

Watch Video Solution

3π

2

7π
6

11π

6

176. Let f(x) =  then

A. f'(2)=0

B. f(-2)=0

C. f(2)=0

D. f'(2)=2

Answer: A::C

Watch Video Solution

∫
x

2
f(t2 − 3t + 2)dt

https://dl.doubtnut.com/l/_sF6p6cu4LYOP
https://dl.doubtnut.com/l/_FtTXDZ8zmP75


Watch Video Solution

177. Let f(x) be a continous function defined on the closed interval

[a,b] then  


The value of  is

A. 5-2 In2

B. 4-2 In2

C. 3-2 In 2

D. 1- In 2

Answer: C

Watch Video Solution

lim
n→ ∞

∑

n

r= 1

f( ) = ∫
1

0

f(x)dx
1

n

r

n

lim
n→ ∞

( )[( ) + + ...... + }
1

n

1

n + 1

2

n + 2

1
2

https://dl.doubtnut.com/l/_FtTXDZ8zmP75
https://dl.doubtnut.com/l/_gP4F6yZfjXAo


178. Let f(x) be a continous function defined on the closed interval

[a,b] then  


The value of  is

A. 3/2

B. 2

C. 1

D. 2/e

Answer: B

Watch Video Solution

lim
n→ ∞

∑

n− 1

r= 0

f( ) = ∫
1

0
f(x)dx

1

n

r

n

lim
n→ ∞

n

∑
r= 1

(1 + ( ))( )
r

n

1

n

179. If f(x) be an increasing function defined on [a,b] then max {f(t)

aletlex, alexleb}a ≤ tx, a ≤ x ≤ b} = f(x) and min {f(t)

https://dl.doubtnut.com/l/_6uGLSRbeUAxN
https://dl.doubtnut.com/l/_2vBBig4fEsfh


lim_0^3min{1,absx,abs(x-2)} dx ` is equal to

A. 1

B. 44257

C. 2

D. 44318

Answer: B

Watch Video Solution

= f(b) and if f(x)beadecrea sin gfunctiondef ∈ edon[a, b]

180. If f(x) be an increasing function defined on [a,b] then max {f(t)

aletlex, alexleb}

int_(-2)^2 maxabsx, absx} dx` where [] denotes the greatest integer

function) is equal to

a ≤ tx, a ≤ x ≤ b} = f(x) and min {f(t)

= f(b) and if f(x)beadecrea sin gfunctiondef ∈ edon[a, b]

https://dl.doubtnut.com/l/_2vBBig4fEsfh
https://dl.doubtnut.com/l/_Gc6SasssoFX1


A. (-2)

B. (-1)

C. 0

D. 1

Answer: A

Watch Video Solution

181. Choose the correct answer:

The hybridisation of the carbon atom (underlined) present in

`(PAT_CHE_0XI_B02_C03_E01_022_Q01.png" width="80%">

is

Watch Video Solution

https://dl.doubtnut.com/l/_Gc6SasssoFX1
https://dl.doubtnut.com/l/_NP8BfjdGiIae


182. Choose the correct answer:

The hybridisation of the carbon atom (underlined) present in

`(PAT_CHE_0XI_B02_C03_E01_022_Q01.png" width="80%">

is

Watch Video Solution

183. If  then the last digit of A is

equal to

Watch Video Solution

∫
0

sin θ log sin θdθ = log( )

π

2 A

198e

184. If  then A

is equal to

Watch Video Solution

∫
1

0

=
dx

(1 + x)(2 + x)(√x(1 − x))

πA

√6(√3 + 1)

https://dl.doubtnut.com/l/_RCYczGh5AF4N
https://dl.doubtnut.com/l/_Fiy0WDjnrzan
https://dl.doubtnut.com/l/_MLjuqgaDcZ0o


185. If  and [x] denotes the greatest

integer function then A is equal to

Watch Video Solution

−∫
2π

0

[sinx + cos x]dx = Aπ

186. The value of the integral  is ?

Watch Video Solution

√2∫
π

0
√1 − cos 2xdx

187. The value of the integral

 then

the value of A is

Watch Video Solution

√2∫
0

f(sin 2x)sinxdx = A( )∫
0

f(cos 2x)cos xdx

π

2 √2

9

π

4

https://dl.doubtnut.com/l/_MLjuqgaDcZ0o
https://dl.doubtnut.com/l/_TEZ3hO3yOsIC
https://dl.doubtnut.com/l/_XTQQf6bGMhH9
https://dl.doubtnut.com/l/_bV5KmbU1rBQt


188. Evaluate 

Watch Video Solution

∫
√3

0

( )sin− 1( )dx
1

1 + x2

2x

1 + x2

189. Evaluate : 

Watch Video Solution

∫
π / 2

0

cos3 x ⋅ sinxdx

190. Evaluate 

Watch Video Solution

∫
0

⎛
⎜
⎜
⎝
esecx dx

π

4
sin(x + ( ))π

4

cos x(1 − sinx)

191. If  show that 

W t h Vid S l ti

|a| < 1 ∫
π

0

dx = π sin− 1 a
log(1 + a cos x)

cos x

https://dl.doubtnut.com/l/_5srcBApbwY8J
https://dl.doubtnut.com/l/_VjPWyPUrE1kf
https://dl.doubtnut.com/l/_DI9KPTBkUctu
https://dl.doubtnut.com/l/_fbC6aW8iu9WB


Watch Video Solution

192. If  dx where n is positive integer or zero,

then show that . Hence deduce that 

Watch Video Solution

Un = ∫
π

0

1 − cos nx

1 − cos x

Un+ 2 + Un = 2Un+ 1

∫
π

0
= (nπ)

sin2 nθ

sin2 θ

1
2

193. Prove that 

Watch Video Solution

∫
x

0

exte− t2dt = e ∫
x

0

e− dt
x2

4
t2

4

194. Find a function  continous in  satisfying g(0)

=1 and )

Watch Video Solution

g :R → R [0, ∞]

∫
x

0

g2(t)dt = (∫
x

0

g(t)dt)
21

2

1

x

https://dl.doubtnut.com/l/_fbC6aW8iu9WB
https://dl.doubtnut.com/l/_GbpBHc2Yqwh1
https://dl.doubtnut.com/l/_w453jpmMG0dV
https://dl.doubtnut.com/l/_p02wW16BFF1o
https://dl.doubtnut.com/l/_OCUhOh7hWnJi


195. Evaluate 

Watch Video Solution

lim
n→ ∞

4n

∑
r= 1

1

n

r

√n2 + r2

196. If  then prove that 

Watch Video Solution

In = ∫
1

0

xn tan− 1 xdx

(n + 1)In + (n − 1)In− 2 = ( ) − ( )
π

2

1

n

197. If  dy find f(x)

Watch Video Solution

f(x) = x + ∫
1

0

(xy2 + x2y)

198. The total number of distinct  for which 

 is

x ∈ [0, 1]

∫
x

0
dt = 2x − 1

t2

1 + t4

https://dl.doubtnut.com/l/_OCUhOh7hWnJi
https://dl.doubtnut.com/l/_LJwTE5COKToX
https://dl.doubtnut.com/l/_UJMrXIxCM0Es
https://dl.doubtnut.com/l/_kcTBgoh5PRhx


Watch Video Solution

199. The value of  is equal to

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

∫
−

dx

π

2

π

2

x2 cos x

1 + ex

( ) − 2
π2

4

(( ) + 2
π2

4

π2 − e
π

2

π2 + e
π

2

200.  is equal to

A. 3 log3-2

lim
n→ ∞

)
(n + 1)(n + 2)....3n

n2n

1
n

https://dl.doubtnut.com/l/_kcTBgoh5PRhx
https://dl.doubtnut.com/l/_nmYTXfgofdE0
https://dl.doubtnut.com/l/_hG1OkvbrS2wB


B. 

C. 

D. 

Answer:

Watch Video Solution

18

e4

27

e2

9

e2

201. = ?

Watch Video Solution

∫
5

0
(( ) − 1)dx

1

x

202. The value of  is

A. 

B. 

lim
n→ ∞

{
√n + 1 + √n + 2 + ...... + √2n

n
3
2

(2√2 − 1)
2

3

(√2 − 1)
2

2

https://dl.doubtnut.com/l/_hG1OkvbrS2wB
https://dl.doubtnut.com/l/_VAFlEGkA5L4l
https://dl.doubtnut.com/l/_AV00Arqb3R3w


C. 

D. 

Answer:

Watch Video Solution

(√2 + 1)
2

3

(2√2 + 1)
2

3

203. if [x] denotes the greatest integer less than or equal to x then

integral  equals

A. 44319

B. 44380

C. 44411

D. 44289

Answer:

Watch Video Solution

∫
2

0
x2[x]dx

https://dl.doubtnut.com/l/_AV00Arqb3R3w
https://dl.doubtnut.com/l/_dXFPpVw8rg2p


204. 


0 otherwise then 

A. a real number

B. 1

C. 0

D. does not exist

Answer:

Watch Video Solution

(ϕ)t = {1, f or 0 ≤ < 1

∫
3000

− 3000
(

2016

∑
r= 2014

ϕ(t − r' )ϕ(t − 2016))dt =

205. Let  be a function defined by 

 


f :R → R

f(x) = {
[x] x ≤ 2

0 x > 2

https://dl.doubtnut.com/l/_dXFPpVw8rg2p
https://dl.doubtnut.com/l/_7ETcyQkr46Rv
https://dl.doubtnut.com/l/_zIbncft2KRY2


where [x] is the greatest integer less than or equal to x. If

, then the value of (4I-1) is

Watch Video Solution

I = ∫
2

− 1

dx
xf(x2)

2 + f(x + 1)

206. If 


where  takes only principal value, then the value of 

 is

Watch Video Solution

α = ∫
1

0
(e9x+ 3 tan − 1 x)( )dx

12 + 9x2

1 + x2

tan− 1 x

(loge|1 + α| − )
3π

4

207. Let  be a continuous odd function, which vanishes

exactly at one point and . Suppose that 

 for all  and 

 for all . If 

,
Then the value of  is

f :R → R

f(1) =
1

2

F (x) = ∫
x

− 1
f(t)dt x ∈ [ − 1, 2]

G(x) = ∫
x

− 1
t|f(f(t))|dt x ∈ [ − 1, 2]

lim
x→ 1

=
F (x)

G(x)

1

14
f( )

1

2

https://dl.doubtnut.com/l/_zIbncft2KRY2
https://dl.doubtnut.com/l/_1DhJMxgmM8os
https://dl.doubtnut.com/l/_RabGzj632Cvz


Watch Video Solution

208. Let  for all 

. The correct expression(s) is (are)

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

f(x) = 7 tan8 x + 7 tan6 x − 3 tan4 x − 3 tan2 x

x ∈ ( − , )
π

2

π

2

∫
π / 4

0

xf(x). dx =
1

12

∫
π / 4

0

f(x)dx = 0

∫
π / 4

0
xf(x). dx =

1

6

∫
π / 4

0
f(x). dx = 1

209. If f(x) + 2f(1 - x) = , then f(x) is

A. m=13, M=24

x2 + 2, ∀x ∈ R

https://dl.doubtnut.com/l/_RabGzj632Cvz
https://dl.doubtnut.com/l/_5FtjgFgYGx6k
https://dl.doubtnut.com/l/_TnFeqalC5g9A


B. m=1/4, M=1/2

C. m=-11, M=0

D. m=1, M=12

Answer:

Watch Video Solution

210. The option(s) with the values of a and L that satisfy the

following equation is (are)

A. 

B. 

C. 

D. 

= L
∫

4π

0 et(sin6
at + cos4 at)dt

∫ π

0 et(sin6 at + cos4 at)dt

a = 2, L =
e4π − 1
eπ − 1

a = 2, L =
e4π + 1
eπ + 1

a = 4, L =
e4π − 1
eπ − 1

a = 4, L =
e4π + 1
eπ + 1

https://dl.doubtnut.com/l/_TnFeqalC5g9A
https://dl.doubtnut.com/l/_pJQ8ePL49xWa


Answer:

Watch Video Solution

211. Let  be a thrice differentiable function. Suppose that

F(1)=0, F(3)=-4 and  for all . Let f(x)=xF(x) for

all .


If  and , then the

correct expression(s) is (are)

A. 9f'(3) +f'(1) -32=0

B. 

C. 9f'(3)-f'(1) +32=0

D. 

Answer:

Watch Video Solution

F :R → R

F ' (x) < 0 x ∈ (1/2, 3)

x ∈ R

∫
3

1
x2F ' (x)dx = − 12 ∫

3

1
x3F ' ' (x)dx = 40

∫
3

1

f(x)dx = 12

∫
3

1

f(x)dx = − 12

https://dl.doubtnut.com/l/_pJQ8ePL49xWa
https://dl.doubtnut.com/l/_RD29mwtneA4s


212. The integral  is equal

to:

A. 4

B. 1

C. 6

D. 2

Answer:

Watch Video Solution

∫
4

2

dx
logx2

(logx2) + log(36 − 12x + x2)

213. Let

xn = (1 − )
2

(1 − )
2

(1 − )
2

......
⎛
⎜
⎝

1 −
⎞
⎟
⎠

2

, n ≥ 2
1

3

1

6

1

10

1
n ( n+ 1 )

2

https://dl.doubtnut.com/l/_RD29mwtneA4s
https://dl.doubtnut.com/l/_NIqNTAEals8B
https://dl.doubtnut.com/l/_9B8ZxJwOrf1t


Then the value of  is

A. 10

B. 12

C. 8

D. 16

Answer:

Watch Video Solution

lim
n→ ∞

xn

214.  = ?

Watch Video Solution

lim
n→ ∞

√1 + √2 + ....... + √n − 1

n√n

215. Let f : R  R be a continuous function which satisfies 

. Then the value of  is

→

f(x) = ∫
x

0
f(t)dt f(loge 5)

https://dl.doubtnut.com/l/_9B8ZxJwOrf1t
https://dl.doubtnut.com/l/_xuqviBYc2oYr
https://dl.doubtnut.com/l/_6PFSwyxBQrbj


A. 0

B. 2

C. 5

D. 3

Answer: A

Watch Video Solution

216. Let

Then the value of  is

A. 1/5

B. 1/9

C. 1/81

xn = (1 − )
2

(1 − )
2

(1 − )
2

......
⎛
⎜
⎝

1 −
⎞
⎟
⎠

2

, n ≥ 2
1

3

1

6

1

10

1
n ( n+ 1 )

2

lim
n→ ∞

xn

https://dl.doubtnut.com/l/_6PFSwyxBQrbj
https://dl.doubtnut.com/l/_BdpYcFJvV32N


D. 0

Answer: B

Watch Video Solution

217. Let f(x) denote the fractional part of a real number x. Then the

value of  is

A. 

B. 0

C. 

D. 

Answer: C

Watch Video Solution

∫
√3

0

f(x2)dx

2√3 − √2 − 1

√2 − √3 + 1

√3 − √2 + 1

https://dl.doubtnut.com/l/_BdpYcFJvV32N
https://dl.doubtnut.com/l/_H9dmyXH98iuJ


218. Let f :  be given by 


 


then

A. f(x) is monotonically increasing on 

B. f(x) is monotonically decreasing on (1,0)

C. f(x) + f(1/x) = 0, for all 

D.  is an odd function of x on R

Answer: A::C::D

Watch Video Solution

(0, ∞) → R

f(x) = ∫
x

e
− ( t+ )

1
x

1
t

dt

t

(1, ∞)

x ∈ (0, ∞)

f(2□)

219. Let f : [a , b]  be a continuous function and let g : R 

 R be defined as 


→ [1, ∞]

→

https://dl.doubtnut.com/l/_QA48XcUEqaoX
https://dl.doubtnut.com/l/_K4GwMtJ0i2JI


 


Then

A. g(x) is continuous but not differentiable at a

B. g(x) is differentiable on R

C. g(x) is continuous but not differentiable at b

D. g(x) is continuous and differentiable at either a or b but not

both

Answer: A::C

Watch Video Solution

g(x) =

⎧⎪
⎪
⎨
⎪
⎪⎩

0 if x < a

∫
x

a
f(t)dt if a ≤ x ≤ b

∫
b

a
f(t)dt if x > b

220. The value of  is

Watch Video Solution

∫
1

0
4x3{ (1 − x2)

5
}dx

d2

dx
2

https://dl.doubtnut.com/l/_K4GwMtJ0i2JI
https://dl.doubtnut.com/l/_YcQCXw7pDljt


221. The following integral  is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫ (2 cos ecx)17
dx

π

2

π

4

∫
log(1 + √2)

0

2(eu + e−u)du

∫
log(1 + √2)

0
(eu + e−u)du

∫
log(1 + √2)

0

(eu − e−u)du

∫
log(1 + √2)

0
(eu − e−u)du

222. Let f : [0,2]  R be a function which is continuous on [0 , 2]

and is differentiable on (0 , 2) with f(0) = 1. Let 

F(x) =  


for . If F'(x) = f'(x) for all , then F(2) equals

→

∫
x2

0
f(√t)dt

x ∈ [0, 2] x ∈ (0, 2)

https://dl.doubtnut.com/l/_AqjIpjoIV7k7
https://dl.doubtnut.com/l/_ATzKQDHZIsxT


A. 

B. 

C. e - 1

D. 

Answer: B

Watch Video Solution

e2 − 1

e4 − 1

e4

223. Given that for each  


 


exists. Let this limit be g(a). In addition , it is given that the function

g(a) is differentiable on (0 , 1). 

The value of g(1/2) is

A. 

B. 

a ∈ (0, 1),

lim
h→ 0

∫
1 −h

h

t−a(1 − t)adt

π

2π

https://dl.doubtnut.com/l/_ATzKQDHZIsxT
https://dl.doubtnut.com/l/_W6r7QVGzrSC2


C. 

D. 

Answer: A

Watch Video Solution

π

2

π

4

224. Given that for each  


 


exists. Let this limit be g(a). In addition , it is given that the function

g(a) is differentiable on (0 , 1). 

The value of g'(1/2) is

A. 

B. 

C. 

D. 0

a ∈ (0, 1),

lim
h→ 0

∫
1 −h

h

t−a(1 − t)adt

π

2

π

−
π

2

https://dl.doubtnut.com/l/_W6r7QVGzrSC2
https://dl.doubtnut.com/l/_9eEgBBvjuhKk


Answer: D

Watch Video Solution

225. Match List - I with List - II 

Watch Video Solution

https://dl.doubtnut.com/l/_9eEgBBvjuhKk
https://dl.doubtnut.com/l/_jY2lR6Rv3K10
https://dl.doubtnut.com/l/_yWIABlmaJOkV


226. The integral  equals :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
π

0
√1 + 4 sin2( ) − 4 sin( )dx

x

2
x

2

4√3 − 4

4√3 − 4 −
π

3

π − 4

− 4 − 4√3
2π

3

227. If , then  lies in the interval

A. (0,2)

B. 

C. (2,3)

I = ∫
2

0

(ex)4(x − α)dx = 0 α

( − 1, 0)

https://dl.doubtnut.com/l/_yWIABlmaJOkV
https://dl.doubtnut.com/l/_3s2BPoPjP0uy


D. (-2,-1)

Answer: A

Watch Video Solution

228. Suppose  .

Then the value of (M - N) equals

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

M = ∫
0

dx, N = ∫
0

sinx dx

π

2 cos x
x + 2

π

4 cos x

(x + 1)2

3

π + 2

2

π − 4

4

π − 2

2

π + 4

https://dl.doubtnut.com/l/_3s2BPoPjP0uy
https://dl.doubtnut.com/l/_OOzPJHEg0R7M


229. Let f(x) =  where [x] de notes the

greatest integer  x. Then the value of 

A. 0

B. 51/2

C. 21/2

D. 1

Answer: C

Watch Video Solution

max {x + |x|, x − [x]},

≤ ∫
3

− 3
f(x)dx

230. Let 


Then

A. f(x) is continuous at x = 1

f(x) = {
∫ x

0 |1 − t|dt x > 1

x − x ≤ 11
2

https://dl.doubtnut.com/l/_vBAL2QCGkSsZ
https://dl.doubtnut.com/l/_CQu3G02hlrIw


B. f(x) is not continuous at x = 1

C. f(x) is differentiable x = 1

D. f(x) is not differentiable x = 1

Answer: A::D

Watch Video Solution

231. Statement - 1 : The value of the integral 

 is equal to  


Statement-2 : 

A. Statement - 1 is true, Statement - 2 is true .

B. Statement - 1 is true, Statement - 2 is false .

C. Statement - 1 is false, Statement - 2 is true .

∫

π

3

π

6

dx

1 + √tanx

π

6

∫
b

a

f(x) = ∫
b

a

f(a + b − x)dx

https://dl.doubtnut.com/l/_CQu3G02hlrIw
https://dl.doubtnut.com/l/_7PPBqrdDuVSm


D. Statement - 1 is true, Statement - 2 is true , Statement - 2 is a

correct explanation for statement - 1.

Answer: 3

Watch Video Solution

232. The value of the integral 

 


is equal to

A. 0

B. 

C. 

D. 

Answer: 4

∫
+

− 1

1{ + }dx
x2013

e |x | (x2 + cos x)

1

e |x |

1 − e− 1

2e− 1

2(1 − e− 1)

https://dl.doubtnut.com/l/_7PPBqrdDuVSm
https://dl.doubtnut.com/l/_2eqWatiqKN8D


Watch Video Solution

233. The value of 

is equal to

A. 1/n

B. 

C. 

D. 

Answer: 1

Watch Video Solution

I = ∫
0

(tann+ 1 x)dx + ∫
0

tann− 1( )dx

π

4 1

2

π

2 x

2

n + 2

2n + 1

2n − 1

n

2n − 3

3n − 2

234. The value of the integral 

 is∫
2

1
ex(loge x + )dx

x + 1

x

https://dl.doubtnut.com/l/_2eqWatiqKN8D
https://dl.doubtnut.com/l/_OtTAWdFaZEP1
https://dl.doubtnut.com/l/_Qzdoa1CUD9Jk


A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

e2(1 + loge 2)

e2 − e

e2(1 + loge 2) − e

e2 − e(1 + loge 2)

235. Let [a] denote the greatest integer which is less than or equal

to a. Then the value of the integral 

 is

A. 

B. 

C. 

∫
−

[sinx cos x]dx

π

2

π

2

π

2

π

−π

https://dl.doubtnut.com/l/_Qzdoa1CUD9Jk
https://dl.doubtnut.com/l/_4yeqTpMIK02j


D. 

Answer: 4

Watch Video Solution

−
π

2

236. The value of the integral  is equal to

Watch Video Solution

∫ dx
sinx − x cos x

x(x + sinx)

237. Let F(x) = . Then

A. F is Increasing in  and decreasing in  and 

B. F is increasing in  and decreasing in 

C. F is increasing in  and decreasing in 

∫
x

0

dt, 0 ≤ x ≤ 2π
cos t

1 + t2

( , )
π

2

3π

2
(0, )

π

2

( , 2π)
3π

2

(0, π) (π, 2π)

(π, 2π) (0, π)

https://dl.doubtnut.com/l/_4yeqTpMIK02j
https://dl.doubtnut.com/l/_VXhAPNzdMccN
https://dl.doubtnut.com/l/_TbDWlPliSMdy


D. F is Increasing in  and  and decreasing in 

Answer: 4

Watch Video Solution

(0, )
π

2
( , 2π)

3π

2

( , )
π

2

3π

2

238. The value of the integral  is

A. 0

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
−

(x2 + In )cos xdx

π

2

π

2

π + x

π − x

− 4
π2

2

+ 4
π2

2

π2

2

https://dl.doubtnut.com/l/_TbDWlPliSMdy
https://dl.doubtnut.com/l/_ZnJo4OTGMNEW


239. If g(x)= , then g(x + pi) equals

A. 

B. 

C. 

D. 

Answer: B::C

Watch Video Solution

∫
x

0
cos4 tdt

g(x)

g(π)

g(x) + g(π)

g(x) − g(π)

g(x)g(π)

240. The value of the integral  is

A. 16

B. 8

C. 4

∫ ( )dx

π

2

π

6

1 + sin 2x + cos 2x

sinx + cos x

https://dl.doubtnut.com/l/_oavU5537UG3E
https://dl.doubtnut.com/l/_gwdcF4bMt6da


D. 1

Answer: D

Watch Video Solution

241. The value of the integral  is equal to

A. 1

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
0

dx

π

2 1

1 + (tanx)101

π

6

π

8

π

4

https://dl.doubtnut.com/l/_gwdcF4bMt6da
https://dl.doubtnut.com/l/_OHJEZfrkl18C


242. The value of the integral  is equal to

Watch Video Solution

∫
0

dx

π

4 sinx + cos x

3 + sin 2x

243. The value of the integral  dx is equal to

A. 0

B. 

C. 

D. 1

Answer: C

Watch Video Solution

∫
2

− 2
(1 + 2 sinx)e |x |

e2 − 1

2(e2 − 1)

244. The value of the integral  is equal to∫
5

1

[|x − 3| + |1 − x|]dx

https://dl.doubtnut.com/l/_v74Bc7IPAvNX
https://dl.doubtnut.com/l/_PDFuRGhrnHAs
https://dl.doubtnut.com/l/_TicijgHrzW50


A. 4

B. 8

C. 12

D. 16

Answer: C

Watch Video Solution

245. Let [ x ] denote the greatest integer less than or equal to x,

then the value of the integral  is equal to

A. 3

B. 2

C. -2

D. -3

∫
1

− 1
(|x| − 2[x])dx

https://dl.doubtnut.com/l/_TicijgHrzW50
https://dl.doubtnut.com/l/_fY9zMwwB5Jlv


Answer: A

Watch Video Solution

246. The value of  is

A. 1

B. 

C. 

D. 1/e

Answer: D

Watch Video Solution

lim t
n→ ∞

(nl)
1
n

n

1

e2

1

2e

https://dl.doubtnut.com/l/_fY9zMwwB5Jlv
https://dl.doubtnut.com/l/_SA3st5sjvPmy

